
 

 

 

                            

 

 

 

Nombre:____________________________________________________________________________ 

 

                                        

445,43 + 288,9 = 

 

 

 

 

 

 

 

 

 

 

 

 

967,1 - 712 =  

 

 

28,57   x 74,6 = 295,5 :   3 = (saca dos decimales) 105,9  :  6  =(saca dos decimales) 

305,21 + 618 = 

 

 

 

 

 

 

 

 

 

 

 

 

 

900,96 - 89,6 = 908,36   x 2,1 = 4954   : 4  =(saca dos decimales) 399    : 8 =(saca dos decimales) 
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